KCNSAMPL

This file is used with Problem 11B-3 page 461 on audit sampling for the KCN audit, and contains the worksheet tabs listed below:

1.  “Attribute” contains the workpaper IC-15 for Attribute Sampling - Revenue Cycle, shown on page 452.

2.  ”PPSsize” presents the workpaper B-9 shown on page 459 and contains the formula for the determination of sample size under Probability-Proportional-to-Size (PPS) sampling method. 

3.  ”PPSeval” contains the working paper shown on page 343 for the evaluation of the results of the accounts receivable sampling, but uses the exceptions noted in Problem 11B-3 on page 461.

Required:

a. “Using the “”Attribute” worksheet, make the below listed ”what if” changes to the sample size factors; list each change, and indicate the effect on the sample size for test no. 1, only  (existence of a reconciliation of control totals by accounting manager).  After making the change to a given factor, change it back to the original value before changing the next factor.

i. Change ”Risk of assessing control risk too low” from 5% to 10%.  What happens to the required sample size if you are willing to accept the higher sampling risk (risk of assessing control risk to low)?

ii. For test no. 1 only, change Tolerable Deviation rate from 7% to 14%. What happens to the required sample size if you are willing to tolerate a higher deviation rate?

iii. For test no. 1 only, change Expected Deviation Rate from 0% to 2%.  What happens to the required sample size if you expect the population to contain a higher deviation rate?

b. Using the “”Attribute” worksheet with all factors set at their original values, for test no. 3, only (existence of a reconciliation of cash collections...), list each number of deviations found in the sample as indicated in nos. 1 through 4, below, and indicate the resulting Achieved Maximum Rate and the related Achieved Assessed Level of Control Risk.  Note that ”SBM” means ”Slightly Below Maximum” (see also Figure 9-13 on page 329).

i. Change the number of deviations in the sample from 0 to 1.

ii. Change the number of deviations in the sample from 1 to 2.

iii. Change the number of deviations in the sample from 2 to 3.

iv. Change the number of deviations in the sample from 3 to 4.

c. As the Achieved Assessed Level of Control Risk increases from ”Low”, to ”Moderate”, to ”Slightly below maximum”, to ”Maximum”, what effect will this have on the size of the sample needed for a related SUBSTANTIVE test such as accounts receivable confirmation, and why?

